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Multiplication (Vertical) Name:
Solve each problem. Answers
1 10 2) 63 3) 52 4) 95
1.
x 19 X 24 x 95 X 87
2.
3.
4.
5) 08 6) 70 7) 88 8) 61
5.
X 65 X 56 x 50 X 45
6.
7.
8.
9) 44 10) 23 11) 64 12) 61
9.
X 56 X 94 x 15 X 92
10.
11.
12.
13) 40 14 16 19 14 16) 24
13.
X 73 x 39 x 68 X 71
14.
15.
16.
17 53 18 13 19) 84 200 87
17.
X 79 x 28 X 84 x 16
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
[ M ath ] www.CommonCoreSheets.com 11-20|45140(35(30|25|20(15(10|1 5| O




=

Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1) 2) 3) 4)
10 63 52 95 ) 190
x 19 X 24 x 95 X 87
90 252 260 665 ) 1,512
+ 100 +1,260 +4,680 +7.600
190 1,512 4,940 8 265 3 4940
. 8.265
5) 6) 7) 8)
08 70 88 61 ] 6.370
X 65 X 56 x 50 X 45
490 420 4,400 305 6. 3,920
+5,880 + 3,500 + 2,440
6.370 3.920 2 745 7. 4400
o 2745
9 10 11 12
) 44 ) 23 ) 64 ) 61 . 2 464
x 56 X 94 x 15 X 92
264 92 320 122 o 2162
+2.200 +2.070 + 640 + 5,490
2 464 2162 960 5612 1. 960
12. 9,612
13 14 15 16
) 40 ) 16 ) 14 ) 24 s 2920
X 73 x 39 x 68 X 71
120 144 112 24 " 624
+2.800 + 480 + 840 + 1,680
2920 624 952 1,704 15, 992
16. 1,704
17 18 19 20
) 53 ) 13 ) 84 ) 87 o 4187
X 79 x 28 x 84 x 16
477 104 336 522 18, 364
+3,710 + 260 +6,720 + 870
4.187 364 7.056 1,392 0. 1,056
20 1,392
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